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 Roll No. 

 
No. of Questions – 30  S-97-Science (D & D) (Supp.) 
 
No. of Printed Pages – 4 
 

 ( )  , 2018 


(SCIENCE) 
  41

4 

  80

      
 (1)    -     

(2)      

(3)       -    

(4)      ,         

(5)     

 1-5 1 
   6-10 1 

  11-15 2 
  16-25 3 
  26-30 6 
(6)   26  30     
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 1-5            (15=5) 
 

1.       ? 1 
 ()  ()  
 ()  ()  
 
2.     - 1 
 () NaHCO3 () NaCl 
 () CaSO4 2

1 H2O () Na2CO3 · 10H2O 

 
3.        ? 1 
 () F () Na 
 () Ca () H 
 
4. m    v           - 1 
 () mv () mgv 
 () mv2 () 2

1  mv2 

 
5.        15      ? 1 
 ()   ()     
 ()    ()   
 
 6-10          (15=5) 
 

6.          1
 
7.             ? 1
 
8.      ? 1
 
9. CNG  LPG      ½+½=1
 
10.             ½+½=1
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 11-15     -  30    (25=10) 
 

11.          1+1=2
 
12.           ½+½+½+½=2
 
13.             ? 1+1=2
 
14.        1+1=2
 
15.                  ½ + ½ + ½ + ½ = 2
 
 16-25     -  50    (310=30) 
 

16.    ()      ? 3
 
17.              3
 
18.              ½+½+1+1=3
 
19.           3
 
20.            ?   3 

21.                  3
 
22.         1+1+1=3
 
23.     ?       -        
     2+½+½=3 
 
24.     ?          2+1=3
 
25.     -185         ()    

    ?          1+2=3
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 26-30          -  100    (65=30) 
 

26.          ,          
         2+3+1=6
       
                  2+2+2=6

 
27.   IUPAC    
 (i)  
 (ii) (CH3)2 – C = CH2 

 (iii)  
           1+1+1+1½+1½=6  
                    

   pH       
     ?        3+3=6
 
28.      ? -          ?  


                    

     3+3=6
 
29. -      -        
                                        

-     -       3+3=6 
 
30. . ...             
                       

         3+3=6 
__________ 


